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O 

ES-341 : TEACHING OF SCIENCE 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All the four questions are compulsory. 

(ii) All the questions carry equal weightage. 

1. Answer the following question in about 
600 words. 
Prepare a list of the various approaches and 
methods of teaching science at secondary stage. 
Describe in detail the approach that is best 
according to you. Describe its advantages and 
disadvantages. 

OR 
Differentiate between Assessment and Evaluation 
of students' performance. How will you monitor 
learner's progress in science ? How does the 
technique of assessment in science theory differ 
from that in science practical ? 

2. Answer the following question in about 
600 words. 
Identify the main teaching points, formulate 
corresponding objectives and explain the teaching-
learning process that you will follow while 
teaching ONE of the following topics at secondary 
level : 
(a) Chemical Reactions. 
(b) Mitosis and Meiosis. 
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3. 	Write brief notes on any five of the following in 
about 120 words each. 

(a) Laboratory Method of teaching Science. 

(b) Importance of teaching Science in schools. 

(c) Food Preservation. 

(d) Conservation of Natural Resources. 

(e) Developing skills in Science at school level. 

(f) Changes needed in Evaluation System in 
Science at secondary stage. 

(g) Concept of Mole. 

(h) Formation of images by lenses. 

	

4. 	Answer the following question in about 
600 words. 

What is a laboratory ? How is an experiment 
different from routine verification ? How will you 
plan, equip, maintain and use your laboratory to 
enable your students to derive maximum benefit 
from it keeping in mind the objectives of teaching 
science at secondary stage ? 

ES-341 	 2 



1.71.-341 
* 	ZtirfaT chi ch11 

t~aia TIAATT 
- 2011 

1.77.-341 : 	 altzlitiff 

1-1 41e1 : 3 7 	 317iTTA. 9.1/#7 : 70% 

79fr wr# so,/ alf-aard ti 

77977 304 sew FIr177 t I 

1. r1.111rt0dl 51k-f 	371t .TTI-17T 600 kltsq . 14X11■Tit. I 

trrarrqw -{7T f-4-4F aitzrrcri few aTrwrq 
trt 	t, 	aTIT1* argITT 4-1 It 

aTfiTT174 (RTT'm) Ti41-9-14 t 	farms 14 -d1-471 
7rii -74 wrtrzri 7-d r-47 

3TEIAT 

fVfVffifzi'f 	31:Fra-T * fir 	tc-441.4)-1 
1711Z13 fir TT241 	fad .14 A411-ci rehti Nchlt 

qui 	? faTi wilic4fiqi-turf4NfavrifFruff 
vr rchti 	mow firq.  ? 

2. 	317ff 	371tITIFT 600 *sq .  A. r■TR I 
-gfratrgrw .7T TR F-14-1 fa 	Thr-*741 
3Trtrk gm zErtrr 7r4a 	l rl1 tffur alitTrrrf 9-r-wzrr 
-11-co4 -twit f14 	 .41--A7 	Tkii 14 
torti wr -FT:ft 	fvrqur 31-krrIT 31-wqr 

(a) 3-15 	I 

(b) 	 3t1T frfalth:R4 I 

ES-341 	 3 	 P.T.O. 



	

3. 	Po-1 14 tf 120 klcq 31'FfT T &-er/rWT171414T7fetcrull 

'W11771 

(a) f41T7 3T 1:17 	le-1 111(1-14) fafq 

(b) fasnoq•  fdT9' aTb7fTcr9" 	4-11-a I 

(c) 3177 TI74.17 I 

(d) TItTffluT I 

(e) RIS11(14 717 	favrff 	Vr7r7 f9trivr 

(f) -griurri:rw 17R TR f-47rff tc-qictri fq1IT farN7 

ta 	3lT4FIWUT I 

(g) H r"I 	tie:W-1111 

(11) 	41:11 	 Nrcirc-cil 	co-frit I 

	

4. 	r-v-irrirw -5177 	WriTTT 600 kieq-1 	11',3R I 

m4141klicif TiT aciit? -crw 	kic,414114-crww4141 

c-1 mcw fimt? 3irq aTicral lei Al, 

7179ardr, Tu-ktlia 3 t 37417 rcrki mcm( 

-tr4 Trw -grrtzr§:rw 1R17 fa--.F aTarFrff ztA 

Trti7T aTrt:Tt fvfceff 3Hcilf aft /W914 714T 3-6T "cff I 

ES-341 	 4 


	Page 1
	Page 2
	Page 3
	Page 4

